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Winter Addition or Subtraction

Solve the following word problems.

In a snowball-making contest, Tim made 12
snowballs, and then he made 8 more. How many
snowballs did Tim make in total?

There were 12 pairs of ice skates in the store. 6
more pairs arrived. How many pairs of ice skates
are there in total?

A sled can carry 15 snowballs. If it already has 9
snowballs, how many more can it carry?

There are 17 penguins on the ice. 5 of them slide
into the water. How many penguins are left on the
ice?

There were 11 kids on the sledding hill. 4 more kids
joined them. How many kids are on the hill now?

Sarah had 20 cups of hot cocoa. She served 7 to
her friends. How many cups of hot cocoa does she
have left?

Tom has 6 pairs of winter gloves. He buys 7 more
pairs. How many pairs of winter gloves does Tom
have now?

Anna has 18 snowflakes in her collection. She loses
10 of them. How many snowflakes does Anna have
left?

9 Sam has 7 winter hats. He buys 4 more. How many
Z=. winter hats does Sam have now?
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